
Math 151:4,5,6 Answers to the First Computational Test (Limits) 9/29/2006

SHOW DETAILS (algebra, limit laws) in the space next to each problem. For the experts:
do NOT use l’Hospital’s rule.

You must give some supporting evidence. An answer alone will not receive full credit.
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9+3 6= 0 so f(x) is continuous at 9 and lim
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Another solution: lim
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=
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5. lim
x→−1+
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Solution We know lim
x→−1+

x2(x − 2) = −3. As x approaches −1 from the right, x + 1 is a

small positive number. The quotient in the limit expression is approximately −3
small positive

,
so the limit is −∞.
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Solution lim
x→4
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=
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